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°F = (°C x -)+32, K =°C+273.15
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1) Express the temperature 122 °F in K. (0°C=273.15K)
a) 341 b) 50.0 (© 323 d) 493 e) 221
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2) The answer to the expression: { [(0.04616 x 0.082057 x 293.30)/0.654] + b.24_6}
rounded to the proper number of significant figures is: d.63
a) 1.945 1.94 ) 1.96 d) 1.69870  €) 1.946 b.93¢
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3) The volume of an atom is 5.44 x 10" cm’. express this value in om’,
(Im=1 x 10%cm) (1m=1 x 10°nm)

8)5.44x10' b)544x10"° ¢)235x 10" () 5.44x 102 e) 1.81 x10°
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4) The name of the compound HNO,; is:
- a) hydrogen nitrite b) nitric acid (cPnitrous acid d) hydrogen nitrate  e) hyponitrous
acid
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5) How many sulfur atoms are there in 3.00 g of Alx(SO4); 7 == A A e

(M.M.=342.14) (Nx=6.022 x 10%) &~ +2.1

2)2.64x 107 1) 1.83x 102 ) 4.08x 10 d)7.62 x 10 (€)5.02x 107
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6) 10.00 g of phosphorus react with oxygen to produce a compound with a mass of 2
w 17.77 g. What is the empirical formula of the compound? (A.M.: P=30.97, 0= 16.00)

a) P,Os b) P,0; ¢) PO d) PO, €)P20;
) o Cv 3 W26 Oy . oé;ﬁ ~ 0.063
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10.00 7) What mass in grams of chromium, Cr, is required to prepare 20.00 g of KoCr207 ?

(MM.: 294.2) (A.M.: K=39.10, Cr=52.00, 0=16.00)

2)8.72 b)484 @707 d)10.6  ¢)4.90
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? 8) Barium chloride, (ﬁaClz\(M_.MFZOS.zz reagts with iron(IIl) sulfate, Fex(SOs);
barium_sulfate

(M.M.=399.91), to produce li"r ] f8a§>04, (M.M.=233.4) as a precipitate.
What minimum mass of barium chloride is required to react completely with 17.50 g of

Fex(SO4)3?

a)l5.62g b) 17.6g ¢)108¢g d)17.50 g 27.34 g
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9) What is the of acetylene, CoH, (M.M.=26.04), that would be produced from the
reaction of 2.37 g of calcium carbide, CaC, (MM.=64.1) with excess water?

CaC; + 2H,0 & GH, + Ca(OH),

a) 0.0369 g b) 1.247 g ¢)0.0370 g @0.963 g . €)0.865¢g
OaCz + H21O — CaHa
‘”";2-77(') . =
-26.04
iz 84, | gluo! s 74;
no ©0.032
n= f;‘»: 0.0331 e aﬁB?*26\O°(
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10) Which of the following is a weak electrolyte in aqueous solution?

a) B8O,  B)HNO;  (Q)HS d)NaCl  e) FeCls

WSOy
11) A precipitate is expected when an aqueous solution of potassium sulfate is added to
an aqueous solution of

a) Sodium chloride (b))Lead(Il) nitrate  ¢) Lithium hydroxide
“~d) Ammonium nitrate ) Zinc nitrate

12) Which of the following compounds is soluble in water?

(PMegS0;  b)CaC0; o) Crs(POs)y  d) AIOH): ¢ BasO
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13) Balance the following reduction-oxidation reaction in acidic medium:
. . e . .
a HoC04 + BMa0;, > o, + g M

The ratio of coefticients ¢/b in the balanced equation is:

(apron b) 7/3
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14) A 0.9555 g sample of ar jonic compound containing chloride ions is dissolved in
water and treated with excess ANOsq; I 1.532 g of AeCT precipi out, What is

the percent by mass Chin the original sample? (A.M.: Ag=107.9, CI=35.45) 2% a%) = 204
P S —

a)37.11%  b)38.82% ¢) 39.65% @ 27.96%  e)45.58% 1o~‘;‘:ﬁa§9
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15) A 0.264 g sam le composed of a rnixmg@m_qf\ NaCl (M.M.=58.44) and MgCl,

(M.M.=95.“?:l) was treated with excess @Qﬁaq). If 0.739g of dry AgCl
(M.M.=143.35) forms, what is the mass percent NaCl in the sample?

a) 55.2% b) 62.1% ¢} 29.8% d) 70.2% e) 37.9%

N et a (\I\%Q)\ L '\'.?A*&Nb3'—>3% l
0‘7—6‘4’ (<) ;;?q ﬁ 2
45 20 glwo! o= 145, 36

Nzo. 055 - B 156 X107

A

R
22 e

16) A 0.3,?2 g sample of an organic
oxygen.
was 0.0704 g What is the
C=12.00, 0=16.00)

a) HCO b) HCO, &) H,CO,
oIy
MmNz "‘f'q
4
n = RE2HO
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cempound containing H, C and O was bumnt in
€ mass of CO,(g) produced was .244

empirical formula of the compound? (A.M.: H=1.00,

8 and the mass of HyO(g) produced

43 HC,O
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h = 200 X\OT2
= ©.0073%
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17) What will be the molarity of HCly,q) solution if
solution made by dissolving 0.425 g Na,CO; ( M.M.= 106) in water? - M+ \y
W = A = 0.4 ‘*___15’_
(Po3is d) 0.124 €)0.0401 7 T W oe
W= 4.004 X107
\

o073 52
’ = 2.004R X0~
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4 mL of it is required to titrate a

/a) 0.158 b) 0.264
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18) 0.64 g NayS (M.M.=78) is dissolved in water. 1.35 g Pb(NOs), (M.M.=331) is also
dissolved in water. Thé two solutions were mixed to produce PbS (M.M.=239)
precipitate. What is the mass of PbS produced? «

9064z - (b))99g 135 d) 0.84g

NO\L&(”()—I- (PBQ‘QQ D S 9'@.,;:-;.‘2:.@) Y ¥§37
mwmm :7‘3 yn N :qj\ e s /M?’?’) <
N=.00 D% ""’/Dd:cg;o"l \ n = .008
. -. " /’ * =
= o e
3 u_)fél




SIS IANILOV)

SINIWIT3  3HL

10

319v1L  DIdONId

sty | bl |50 | ssol fevn | et T | T | T ] (e L870°LE7 620'8E2lp5E01 E2f 8002
11 JeN) [PW| (W) s3] gD | g | jwD) iy | (ag) (dN| | A | |od] |yt |
€01 o] [0t foot| | s6 ! |96 || 26! | 96 || ss ve [t ||| ]| o0s]|
coyes et ] Tayewagd 92291 [0e6v3 | 05291 bzewa] 225t | 96°151) [ 7051 | @vi) rzwvd Egrs.oi ST IR
A7) |9A (WL 13 oH| AgQ| |q1] PD| | n3 || ws| lwg| [pN] | 1d a (| [y520922 (ez)
Wl 0| | 69| |89 9] 9 9|9 || ¢ 29 | | 19| | 09| 5| | us W Y. By | M
: — . - . 68| 88| | s
@z Jow | Yool yosssoy zeop | (£Y07] 65007 699696 N sset| | [22281] com | | 7981 | saest s 0ed o700 G506°8E I IPEZE | ¥S06°ZE 1
U3 1y 1od g 9d| 1L 8Ky | id A 150 1ed] IM ]| ioL| ] |e1, |og] |5y
98 | | <8 i e £2 | | T8 18 o8 | | 64 8s 2L 17 s¢ * A7 22| ) 48 95 s
S| Cp06'9ZY 09421 | SCIZL] 69911 |80 | | OvZLE |898L01] vool | | 506200 107101 290296 WS V906 T8| Tt | losos'ee] 198 |949vse
Xyt 121 fas lusi v - 1p3 By |pd| | qd| nd] 3L low! |gN!| |47 A4S 19d
12 £S5 5 s oS o 14 Fid 9 s¥ 44 P 144 ¥ or K 8¢ Y <
OFER) oS, ar || el o s s | | 9vse | s | | (zeesds] oS |0sEevs] gests Jrive0s 0 | |ossevy| s | [.850°6E
A 148 185 sy 189 Ipg luz | (nD| | IN|{|oD] 84| |uw |15 | A T35 (PO |'X
seidse| ve|leellze||w!|oc|| 6| s ajjol|seiinw|le|llal|le||la|]la
BYOE | ESV'SE 90°Z8| geso0E| 980°8Z JS1o69z) 2 A A, 1506868622
VRIS d s i 8 o i 1BW] PN
8t aQ 9 §1 " £ ' Y : / O S S A 1 i
SLVOZ fyeoegtiveeesi onomi | won [ wor | (4 N N T
Nifdljol N Da 11 UL TR
ot s s ! 9 sl S A €
ooyl S A A A S .. P v VT T
b2 1 R AR Y A U T N A O A AU T N
z ,.. .n. .__ .... _... n. .... .~. .,. .... m .... _.._ u. —,., n. ... “.. u. _” .." ..“ ...,, .A., \.... 1
S A Y S
: : ; : , ... ; ¥ ¥ Ty
S YIA YA YA YA vwvm e a WA A W Wm vD v



